Polarization analogy in two flavours

2-v flavors : Formalism

¢ Expand all matrices in terms of Pauli matrices as

x=L,1 > X, o
2 =123
* The following vectors result from the matrices
p, =P,
H < oB
V & 2G,N. L=L
H!" & 26, (n+n)| do f ()P, sen(@)= 1D

* EOM resembles spin precession
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Precession of the polarization vector

In (V0 e
@ Density matrix p = Py/2 + P - &
@ Half-angle of precession = § = mixing angle
@ Different energies: same cone, different precession speeds



Precession picture of MSW resonance
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